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Y…SÔ]ÁX  f 100 (Full Marks : 100)   
]Á„XÃ[˝ mÃ[˝”±ºˆ  f 30%  (Weightage of Marks : 30%) 

 
Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling mistakes, 
untidiness and illegible handwriting. The figures in the 

margin indicate full marks. 

◊[˝\ˆÁG - Eı 

Â^ ÂEıÁ„XÁ ªV«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

1* ◊[˝◊\ˆ~ Y“EıÁ„Ã[˝Ã[˝ ◊XÃ^Tˆ Y«πY◊[˝XÓÁa ◊ªJÙyac˜ [˝SÔXÁ EıÃ[˝”X* 

◊ªJÙyac˜ ◊[˝◊\ˆ~ Y“EıÁÃ[˝ %]Ã[˝Á◊[˝XÓÁa [˝SÔXÁ EıÃ[˝”X* 12 + 8 

2* _[˝SÁ∂ëˆ« =◊‡ˆ„VÃ[˝ `ÁÃ[˝›Ã[˝[˝ ◊w¯Ã^ È[˝◊`rÙÓ, L_L =◊‡ˆ„VÃ[˝ 

%ÜÿöˆÁ◊XEı È[˝◊`rÙÓ A[˝e LÁÜ_ =◊‡ˆ„VÃ[˝ `ÁÃ[˝›Ã[˝ÿöˆÁ◊XEı È[˝◊`rÙÓ 

ae„l˘„Y [˝SÔXÁ EıÃ[˝”X* V«◊ªRÙO LÁÜ_ =◊‡ˆ„VÃ[˝ ◊[˝p˚ÁXa∂ˆÇTˆ 

XÁ] ◊_F«X* 6 + 6 + 6 + 2  

3* %ÓÁ∫RÙOÁ„Ã[˝a› (Eı„+Á◊LªRÙO›) ÂGÁ‰yÃ[˝ ]«FÓ È[˝◊`rÙÓm◊_ ◊_F«X* 

Ac˜O ÂGÁy◊ªRÙOÃ[˝ ◊[˝„`b È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X ^ÁÃ[˝ LXÓ Ac˜O 

ÂGÁy◊ªRÙO„Eı ◊•[˝›LYy› Ê`“S›Ã[˝ ]„W˝Ó =~TˆTˆ] ÂGÁyÃ[˝÷„Y 

◊[˝„[˝ªJÙXÁ EıÃ[˝Á c˜Ã^* Ac˜O ÂGÁy\«ˆN˛ ªJÙÁÃ[˝◊ªRÙO %UÔÍX◊TˆEı 

mÃ[˝”±ºˆa+~ =◊‡ˆ„VÃ[˝ ◊[˝p˚ÁXa∂ˆÇTˆ XÁ] ◊_F«X A[˝e TˆÁ„VÃ[˝ 

%UÔÍX◊TˆEı mÃ[˝”±ºˆ =‰{F EıÃ[˝”X* 8 + 6 + 6 

4* =◊‡ˆ„VÃ[˝ [˝ ◊à˘„Tˆ XÁc˜O‰ÆœÙÁ„LX C ZıaZıÃ[˝Áa-AÃ[˝ \…ˆ◊]EıÁ =‰{F 

EıÃ[˝”X* YyÃ[˝‰μ–˘Ã[˝ ◊X]fi_X, [˝Á&„]ÁªJÙX ÂÃ[˝ÁW˝ A[˝e [˝›„LÃ[˝ 

a«äÁ[˝ÿöˆÁ %ÁXÃ^„X ÂEıÁXÀ =◊‡ˆV c˜Ã[˝„]ÁX EıÁ^Ô Eı„Ã[˝, %Á„_ÁªJÙXÁ 

EıÃ[˝”X* =◊‡ˆ„V ◊L[[˝Á„Ã[˝◊_X c˜Ã[˝„]ÁX-AÃ[˝ `ÁÃ[˝›Ã[˝[˝ ◊w¯Ã^ 

EıÁ^ÔÁ[˝_› [˝SÔXÁ EıÃ[˝”X*  4 + 8 + 8 

◊[˝\ˆÁG - F 

Â^ ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5* =◊‡ˆ„V ÿëˆYÃ[˝ÁG„^ÁG C c˜OTˆÃ[˝YÃ[˝ÁG„^ÁG-AÃ[˝ %◊\ˆ„^ÁLXm◊_ 

=‰{F EıÃ[˝”X* ÿëˆYÃ[˝ÁG„^ÁG C c˜OTˆÃ[˝YÃ[˝ÁG„^ÁG-AÃ[˝ a«◊[˝W˝Á C 

%a«◊[˝W˝Ám◊_ Eı› Eı›, [˝SÔXÁ EıÃ[˝”X* 2 + 6 + 4 

6* c˜O=ZıÃ[˝◊[˝„Ã^a› ÂGÁ‰yÃ[˝ ]«FÓ È[˝◊`rÙÓm◊_ [˝SÔXÁ EıÃ[˝”X* Â[˝‹öˆÁ] 

C ßEıÁÃ[˝-AÃ[˝ Ê`“S›◊[˝XÓÁa %X«aÁ„Ã[˝ A◊ªRÙOÃ[˝ %[˝ÿöˆÁX ◊_F«X* 

ÂaÁ_Á„Xa› ÂGÁ‰yÃ[˝ V«◊ªRÙO %UÔÍX◊TˆEı mÃ[˝”±ºˆ a+~ =◊‡ˆ„VÃ[˝ 

◊[˝p˚ÁXa∂ˆÇTˆ XÁ] ◊_F«X A[˝e TˆÁ„VÃ[˝ %UÔÍX◊TˆEı mÃ[˝”±ºˆ 

=‰{F EıÃ[˝”X* 6 + 2 + 4 
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7* CAM =◊‡ˆ„VÃ[˝ È[˝◊`rÙÓ A[˝e Ac˜O Y“◊y‘Ã^ÁÃ[˝ TˆÁdY^Ô [˝SÔXÁ 

EıÃ[˝”X* 5 + 7 

8* C4 =◊‡ˆ„VÃ[˝ È[˝◊`rÙÓ =‰{F EıÃ[˝”X* C4 =◊‡ˆ„V EıÁ[˝ÔX 

ae[˝μ˘X Yà˘◊Tˆ [˝SÔXÁ EıÃ[˝”X*  5 + 7 

9* DNA Y«X„^ÔÁLX Yà˘◊Tˆ (Recombinant DNA 

Technology) Eı› ? Ac˜O Yà˘◊Tˆ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* Flavr-

Savr ÊªRÙOÓÁ]ÓÁ‰ªRÙOÁ Eı› C Eı›\ˆÁ„[˝ ÈTˆÃ[˝› c˜Ã^, ◊_F«X* 

  2 + 7 + 3 

10* YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X : 4 × 3 

Eı) ÿëˆÁ\ˆÁ◊[˝Eı C LÁ◊TˆL◊XGTˆ Ê`“S›◊[˝XÓÁa Yà˘◊Tˆ 

F) ]ÓÁ_„\ˆa› C ◊Eı=EıÁÃ[˝◊[˝‰ªRÙOa› ÂGÁ‰yÃ[˝ Y«eÿôˆ[˝Eı 

G) Y“„ÿëˆVX C ◊XÿÉˆÁ[˝S* 

◊[˝\ˆÁG - G 

 Â^ ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11* %ÓÁ_[˝ÁªRÙO¤ ◊c˜_ (1952) EıT ˆ¤Eı %UÔEıÃ[˝› =◊‡ˆ„VÃ[˝ 

[˝Ó[˝c˜ÁÃ[˝◊\ˆ◊w¯Eı Ê`“S›◊[˝\ˆÁG ae„l˘„Y [˝SÔXÁ EıÃ[˝”X* 6 

12* c˜Á„[˝Ô≈◊Ã[˝Ã^Á] `›ªRÙO Y“ÿô«ˆ◊Tˆ, aeÃ[˝l˘S C Y◊Ã[˝ªJÙ^ÔÁ Yà˘◊Tˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 

13* ae◊l˘ä ªRÙO›EıÁ ◊_F«X : (Â^ ÂEıÁ„XÁ V«◊ªRÙO) 3 × 2 

Eı) ICBN 

F) È[˝W˝ Y“EıÁ`X 

G) Â^Ï◊GEı Zı_* 

14* %ªJÙy‘ÁEıÁÃ[˝ Zı‰ªRÙOÁZıa„ZıÁÃ[˝Ác˜O„_`X-AÃ[˝ c˜O„_kòÙ„XÃ[˝ Y“[˝Ác˜ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 

15* %[˝ÁTˆ `üaX ÂEıX l˘◊TˆEıÃ[˝ Y“◊y‘Ã^Á ? aμ˘ÁX-AÃ[˝ aÁ„U %[˝ÁTˆ 

`üaX-AÃ[˝ YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X* 2 + 4 

16* ◊[˝◊\ˆ~ Y“EıÁ„Ã[˝Ã[˝ Y¿Ã^◊Qˆ-Ã[˝ Ê`“◊S◊[˝XÓÁ„aÃ[˝ ÂÃ[˝FÁ◊ªJÙy ◊VX* 6 

17* aÁ„_ÁEıae‰`¿b-AÃ[˝ G◊Tˆ ◊XW˝ÔÁÃ[˝Eı Y“\ˆÁ[˝Eım◊_ [˝SÔXÁ EıÃ[˝”X* 

  6 

18* XÁc˜O‰ÆœÙÁ„LX ae[˝μ˘„X "XQˆª' (nod) C "◊XZÀı' (nif) ◊LX-AÃ[˝ 

\…ˆ◊]EıÁ ◊_F«X* 3 + 3 
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English Version 

Group – A 
Answer any two questions : 20 × 2 = 40 

1. With neat sketches, give the description of 

different types of cymose inflorescence. Write 

down different types of placentation with neat 

sketches. 12 + 8 

2. Write down briefly the physiological features       

of halophytes, morphological features of 

hydrophytes and anatomical features of 

xerophytes. Write down the botanical names of 

two xerophytic plants. 6 + 6 + 6 + 2 
3. Give the diagnostic characters of the family 

Asteraceae (Compositae). Point out why the 

family Asteraceae has been considered as most 

highly evolved among dicotyledons. Write 

scientific names of four plants belonging to the 
family, mentioning the economic importance.   

  8 + 6 + 6 

4. Mention the role of nitrogen and phosphorus in 

physiological processes of plants. Which 

hormone plays a role in closing of stomata, 

controlling transpiration and induction of 
dormancy of seeds. Discuss in detail. Describe 

the physiological role of gibberellin in plants. 

  4 + 8 + 8 

Group – B 

Answer any three questions : 12 × 3 = 36 

5. Point out the contrivances for self- and cross- 

pollination. Mention the advantages and 

disadvantages of self- and cross-pollination. 

  2 + 6 + 4 

6. Write the diagnostic characters of the family 

Euphorbiaceae. Give the systematic position of 

the family according to Bentham and Hooker. 

Mention botanical names of two economically 

important plants of the family Solanaceae, 

pointing out their economic importances.  

  6 + 2 + 4 

7. Describe the characteristic features of CAM 

plants. Discuss the utility of the process. 5 + 7 

8. Write down the characteristic features of C4 

plants. Describe the mechanism of carbon 

fixation in C4 plants. 5 + 7 

9. What is recombinant DNA technology ? Discuss 

the mechanism of the process. What is Flavr-

Savr tomato ? How is it formed ? 2 + 7 + 3 
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10. Distinguish between the following : 4 × 3  

a) Natural and phylogenetic system of 

classification 

b) Androecium of Malvaceae and 

Cucurbitaceae 

c) Transpiration and Guttation. 

Group – C 

Answer any four questions : 6 × 4 = 24 

11. Write in brief the classification of economically 

important plants as proposed by Albert Hill 

(1952). 6 

12. Write down the preparation, preservation and 

maintenance process of herbarium sheet. 6 

13. Write short notes on ( any two ) : 3 × 2 

a) ICBN 

b) Valid publication 

c) Multiple fruits. 

14. Discuss the path of electron during non-cyclic 

photophosphorylation. 6 

15. Why is anaerobic respiration considered as a 

process of loss ? Differentiate it from 

fermentation. 2 + 4 

16. Classify the different types of ploidy with a line 

diagram. 6 

17. Describe the factors that influence 

photosynthesis. 6 

18. Write down the role of 'nod' and 'nif' genes in 

nitrogen fixation. 3 + 3  
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